H & 0l & AHS B Ml A

SN SO ENEERC
3 =g - sEIIgAEZE
el EAIRSEXIXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
L= 12,732,685 3,877,405 8,855,280
= 7,204,000
== 680,000
[Ea 4,848,685
=g - SEIIEAIZ 25} 9,303,360 3,849,760 5,453,600
= 4,416,000
< 502,000
= 4,385,360
SARIKXIXI 707,800 683,720 24,080
= 278,000
= 429,800
CAUsERINE 11,800 8,720 3,080
201 Ler=23 | 7,000 3,920 3,080
01 At2teltl 7,000 3,920 3,080
Odgt+==H| 7,000
“CAIE RXAE FE
2,000,000 *14] 2,000
-TAE R 23 22 22 MA
1,000 +5,000% 5,000
202 04l 4,800 4,800
01 =LHA LI 4,800 4,800
OZAI2 KX MY =8 S
20,0003 x3E*102+82 4,800
FEHE SIS USIIAME 695,000 675,000 20,000
== 278,000
[Ea 417,000
307 212+01& 695,000 675,000 20,000
< 278,000
s 417,000
02 2IZHB A E £ 695,000 675,000 20,000
OFgdg oS0t USJ| Al EXx2
5,000, 0002 13990 2 695,000
= 278,000
Ea 417,000
HEMGS0SHSIIAG (XHAI) 1,000 0 1,000
202 04| 1,000 0 1,000
01 =LHOHI 1,000 0 1,000
OFEMY 2502 2SI At
20,0002 x1H+53|x 102 1,000
sENY 8,595,560 3,166,040 5,429,520
= 4,416,000
== 224,000
[Ea 3,955,560
OIS RHSII(HEALY) 600,000 910,000 A310,000




SN SO ENEERC
3 =g - sEIIgAEZE
el sENE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 600,000 910,000 A310,000
01 Al&H| 596,400 903,448 A307,048
OZgd H&E0kE =)l
250,000,000 *99. 28% 248,200
O&gd dotits 2HsSD|
250,000,000 *99.28% 248,200
OO 2HET] Al AR (2 4)
50,000,000 *2H 2= 100,000
03 Al 2 0HHI 3,600 6,552 A2,952
OFZo Ha0t2 2|
250,000, 0002 %0.72% 1,800
O dotits 2H=SD|
250,000,000 0.72% 1,800
KA ASH[AEZ] 400,000 400,000 0
= 280,000
= 120,000
307 glztol & 400,000 400,000 0
= 280,000
o 120,000
05 212t =S 400,000 400,000 0
OZ&Z ANZHE S5 400,000,000 400,000
= 280,000
o 120,000
SHOHEINLALS 66,980 129,540 262,560
201 =3 5,700 8,260 A2,560
01 At22t2l] 5,700 8,260 22,560
ER=last=ull 1,500
~SAHENEAIY HEI0F A2
100,0003 *15A12+ 1,500
Oo=2g=¢g 4,200
—SMUHEMNLAE SA==E
700,000 32 2,100
—SMOENSAIE 2E2 NHEFE
300,000 *7IH A 2,100
202 04t 2,000 2,000
01 =LHOHI 2,000 2,000
OSHOENLAYE WE & ATdE 4
1,000,0002 x2&H 2,000
307 @I2t01 & 59,280 59,280
05 2IR”IRIE = 59,280 59,280
OsttoEgdst N24dH 228 X 59,280
-HIeE 23 1,500,000& «12& 18,000
-2ut2dy| 2,000,000& 123 24,000
-4l 50,0003 »2H+5& x 122 6,000
-2 & 8,000 x4 *202 * 122 7,680




SN SOENLEN
M sel . sE)|BAlE st
ol SENE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| -g=xz 30,0002 128 3,600
ST MEE SAAEY 37,000 80,000 /43,000
101 @124H| 37,000 80,000 /43,000
04 JIZtNZ2 2N SE+ 37,000 80,000 243,000
OsEMASHAAY Al (ZHIFIHE
) 37,000
-AFSE el 2,250,000 28«6 = 27,000
“Al2gs 2 EX= 10,000,000 10,000
A0 ZEAI(HEALY) 511,080 210,240 300,840
201 er2&| 6.280 5,440 840
01 At2teltl 6,280 5,440 840
Odgt+==H| 5,000
“AR0IE A F 1,000,000 1,000
MRS &4 2 U2 =8
200,000& x10&»23] 4,000
O=el 1,280
-AR0E 24 YR FA
8,000 <2 * 10«8 1,280
202 04| 4,800 4,800
01 =LHOHI 4,800 4,800
OdlAOtES ZEAY
20,0002 «32+83|* 102 4,800
401 Al HIZL 2048 500,000 200,000 300,000
01 Al&H| 500,000 200,000 300,000
Oulite &4 At 500,000,000 500,000
APt sMHENLAIS (REXIF) 93,000 87,260 5,740
307 gl2to| & 28,000 28,000 0
02 2B YAIHE A 28,000 28,000 0
OLersMUEHEAMY AIE 22|z X8l X
el 8,000, 0002 *5H 2 +70% 28,000
401 AIEHIZ R HYI 65,000 55,000 10,000
01 Al&H| 65,000 55,000 10,000
OLEtsAHENTAY AIEE 2= 65,000
“ERAEES 5,000,000 «6IH 2 30,000
-AEAHE S 4,000,0003*57H 2~ 20,000
U2 15,0002 %1,000m" 15,000
ZAOAS =6t A A 1,989,000 0 1,989,000
= 1,742,000
S 224,000
o 23,000
403 AXIEHHSAH=01d 1,989,000 0 1,989,000
[ 1,742,000
= 224,000




SN SOENLEN
3 =g - sEIIgAEZE
ol SENE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 23,000
02 SISOt =2 A 2 E A I 1,989,000 1,989,000
QLTI =5t 4E FTHAIL
1,989,000,000& 1,989,000
[ 1,742,000
= 224,000
Ea 23,000
gdgd J|zdENEXH 710,000 710,000
[ 707,000
o 3,000
403 AXIEHHSAH=201H 710,000 710,000
= 707,000
= 3,000
02 SIS0t =S A A 710,000 710,000
Oggd J|=dENE g
710,000,000& 710,000
= 707,000
Ea 3,000
g8%H JZdENExY 710,000 710,000
[ 707,000
o 3,000
403 AXIEHHSA=201H 710,000 710,000
= 707,000
T 3,000
02 SIS0t =S A A 710,000 710,000
Oddd J|=dENE LA
710,000,000 710,000
= 707,000
o 3,000
2 JI=EEHEEL(22) 700,000 700,000
[ 490,000
s 210,000
403 AXIEHHSAH=201H 700,000 700,000
[ 490,000
Ea 210,000
02 SI12S0ItH et =& 2 €A I 700,000 700,000
OZ2H J|=MENETHAIS (22H2)
700,000,000 700,000
= 490,000
= 210,000
AEAH I ZHENF L (26H) 700,000 700,000
[ 490,000
s 210,000
403 AXIEHMSAH=201H 700,000 700,000




SN SO ENEERC
3 =g - sEIIgAEZE
el sENE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 490,000
s 210,000
02 SIS0t 2 S A A 700,000 700,000
OXEH I =MENE L AL (222)
700,000,000 700,000
= 490,000
Ea 210,000
SECIZEE XA 2,078,500 2,078,500
201 fer=3| 18,500 18,500
01 AtR2tc|Hl 18,500 18,500
Oget=ZH] 2,000
-BIEEE MY = 2,000,000& *14] 2,000
O=23+¢ 16,500
-S2 g FUARE 22
50,000+ 10E 32/ * 114 2 16,500
401 AIEHIZ SR OHYI 1,820,000 1,820,000
01 Al&HI 1,814,960 1,814,960
Ooglde|2a e XA 1,814,960
-& - BDI180 cl2gd
70,000,000& *20=+99.64% 1,394,960
-2EHFH 160,000,000& *2= 320,000
-B1E o 50,000,000& 2= 100,000
03 Al 20HHI 5,040 5,040
Ol (H.e120) XA
5,040,000 5,040
402 2IF X201 & 240,000 240,000
01 QI X2 AL E A (KEHITHR) 240,000 240,000
Oelde| 22 e X3
30,000,000& *8= 240,000
=EZ X2t 3,404,000 3,404,000
s 2,788,000
s 178,000
s 438,000
NS Y2 3,404,000 3,404,000
[ 2,788,000
= 178,000
o 438,000
NS IR AL 1,050,000 1,050,000
[ 1,048,000
s 2,000
401 AIEHIZ SR HYI 1,050,000 1,050,000
[ 1,048,000
Ea 2,000
01 Al&HI 1,048,000 1,048,000




SA: SOENLERC
Ha: 2EUT| NG

SRl ASdEH20H (St &)

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

OChet 83 =8 FIAY

1,048,000,000% 14! 1,048,000
1,048,000
03 A& CHYI 2,000 0 2,000
OChet HE1d =8 FHIAMY

oT

&)

2,000,000 *14] 2,000

ZsX 7 MSO0HSA 517,000 0 517,000
385,000
37,000
95,000

Moo

401 Al HIZ 2018 517,000 0 517,000
385,000
37,000
95,000

HH A

01 Al 517,000 0 517,000
OFSXT HAXS MEOCIA HEAI

517,000, 0002 517,000
385,000
37,000
95,000

HH A

WX+ ME0SAIY 528,000 0 528,000
392,000
37,000
99,000

HH A

401 Al HIZL S 0HYI 528,000 0 528,000
392,000
37,000
99,000

HoH A

01 AlZHI 524,832 0 524,832
OUsSXI+ MEOEA

Bl

4

524,832,000 524,832
389,648
36,778
98,406
03 A& S CHYI 3,168 0 3,168
OUsXI+ ME0ESAY

oA

Bl

4

3,168,000& 3,168
2,352
222
54

HOH

SHRIXIT ME0SAY 664,000 0 664,000
511,000
46,000
107,000

HH A




2A:

SO{ENLFRIC

e

Hu: AEUTARL AT
SRl ASdEH20H (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 664,000 0 664,000
= 511,000
== 46,000
[Ea 107,000
01 Al&HI 664,000 0 664,000
Osaek+ MES0EAE F=a
664,000,000 664,000
= 511,000
== 46,000
o 107,000
ST FHAXNS 2012 HEAY (MEOIS) 645,000 0 645,000
s 452,000
== 58,000
o 135,000
401 AIEHIZ SR 0HYI 645,000 0 645,000
= 452,000
= 58,000
o 135,000
01 AlZ2H| 645,000 0 645,000
OSEXNT HAXNAESH 21N A
645,000,000 645,000
[ 452,000
= 58,000
o 135,000
dH2IIH(SHEHNL =) 25,325 27,645 N2,320
Jl2H(sHEMNLFRIC) 25,325 27,645 2,320
Jl2 I (&570HE) 17,205 18,365 21,160
201 Ler23| 12,405 12,965 A560
01 At2teltl 12,405 12,965 A560
Odgt==H| 10,725
-FAE2Y SHAY 10,725,000& 10,725
O=gH| 1,680
-FA2E SAAY 1,680,000 1,680
202 04| 1,800 2,400 2600
01 =LHA LI 1,800 2,400 A600
OFAEE SHAY 1,800,000& 1,800
203 HF=AH] 3,000 3,000
MU FAZSLIFAI 3,000 3,000
ORA2E FR=THI(EE 129) 3,000
-d& 152! Olot 250,000 * 122 3,000
l23HI(BEEE) 3,480 4,640 AT1,160
201 er23 | 1,680 2,240 A560
01 At2teltl 1,680 2,240 A560




QA SO ENEERE
M HZYRAZH(SHSHLFAL)
Sl JI2EH(sHENLFIH) (St &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O=gH| 1,680
-FAE2E SHAY 1,680,000 1,680
202 044l 1,800 2,400 A600
01 =LHO LI 1,800 2,400 AB600
FASE SHAHA 1,800,000 1,800
JlI23HI(s0EMY) 4,640 4,640
201 ZEet2& ] 2,240 2,240
01 AtR2telbl 2,240 2,240
Or==i:] 2,240
-FAE2E SWAY 2,240,000 2,240
202 04| 2,400 2,400
01 2L AL 2,400 2,400
ORMEE SHA 2,400,000 2,400




